DUAL COMBUSTION CYCLE

)

) i

! !
R-Vc-+7 V, —_—

(a) p-V diagram

(b) T-s diagram

= 5



Heat supplied during the process 2-3 = mc, (T3 - 13)
Heat supplied during the process 3—4 = mc, (T4 — T3)

Total heat supplied, Q, =mc,(T3 — T3) + mc, (T4 — T3)
Heat rejected during process 5-1, @ = mc, (Ts — T))
Thermal efficiency, n=1- &
Q
=1 - mcv(Ts — Ii)
Three ratios are used to analyse the Dual combustion cycle: mc, (T3 = ) + mey(Ty = T3)
_ / ~1- Is — 1
(1) Compression ratio, r= -‘-/;- (L, —-T)+7 (T, - T3)
(2) Pressure ratio, Q= 4]
P
(3) Cut-off ratio, = /]
£

These ratios are always greater than 1.



For isentropic process 1-—2,
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For constant volume process 2—3,
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3 = Pa 2 = 2 = 17

For constant pressure process 3—4,
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Ts = 275 = BT5 = Bad 7!



For 1sentropic process 4-5,
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